VECTOREPTICS®

GERMAN #4 FIBER MOA SFP RETICLE

The German #4 Fiber reticle is a type of reticle commonly found in
hunting scopes. It features thicker outer lines on the left, right, and
bottom, with thinner inner crosshairs and a top vertical line. The
thicker lines allow for easier target acquisition, while the thinner
crosshairs and a top vertical line provide for greater precision when
aiming at smaller targets.
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The center dot of the reticle is used to provide a point of aim, which Ak
can be especially useful when shooting at small targets or aiming at
long ranges. The illumination feature of the reticle provides additional
visibility in low-light conditions, making it easier to acquire targets
and aim accurately.

Setting: MOA

Red indicated illuminated
portion of the reticle N




HOW TO MEASURE TARGET LENGTH

The German #4 reticle can also help the shooter estimate the range to a target. If the shooter knows the target
object’s size at shooting distance, then he can compare it to either the vertical or horizontal hash mark spacing and
roughly estimate the range.

The formula for range estimation is as follows:

Range (yards) = Target Height or Width (inches) * 100 / Target Height or Width measured on
reticle (MOA)

MOA MIL CM/100M
A B C D A B C D A B C D
4x 0.9 3.2 063 573 026 093 018 16.67 26 093 18 166.7
6X 0.6 213 042 382 017 062 012 1111 1.7 6.2 1.2 111
8x 045 1.6 032 2865 013 047 009 8.34 1.3 4.7 09 834
10x 036 128 025 229 01 037 0.07 6.67 1.0 3.7 0.7 667
12x 03 107 0.21 191 0.09 0.31 0.06 5.56 0.9 31 06 556
15x 024 085 017 153 0.07 0.25 0.05 4.45 07 25 05 445
18x 02 071 014 127 0.06 0.21 0.04 3.70 0.6 21 04 370
24x 015 0.53 011 9.55 0.04 016 003 278 0.4 16 03 278

Reticle at the set magnification, If a shooter is looking at a 60
inches long wolf, and it spans about T0MOA on the horizontal line
.~ (picture 2). Using the formula above, the range to the wolf is
calculated as follows:

Range = 60 (inches) * 100 / 10 MOA = 600 (yards)

Red indicates the length of the target



